
What equation would have to be solved to use partial fractions to antidifferentiate the following 
integrals? STOP before multiplying through by the LCD. 
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3

xxxxx
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3. Write the trig substitution used to start the problem. Stop before differentiating. 
a) dxx∫ + 24   b) dxx∫ − 24   c) dxx∫ − 42    

d) dxx∫ −14 2    e) dxx∫ − 241    f) dxx∫ +14 2   

g) dxx∫ + 294    h) dxx∫ − 294    i) dxx∫ − 94 2    

j) dxx∫ − 49 2  
 
4. Which of the following integrals can be done by letting u = tanx ? 
(i) ∫ xdxx 23 tansec  (ii) ∫ xdxx 24 tansec  (iii) ∫ xdxx 34 tansec  (iv) ∫ xdxx 53 tansec  
 
 


